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Computation of material,
Iabor, and overhead variances
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The predetermined overhead ate s bused on 4 planned operating volume of 0% of the productve
capacity of 60,000 uits pe quarer The following flexible budget information is availabke:

Operating Love!
%

7o% %

Production n unts
Standrd divsct abor hours .
Budgetsd overhsat

Fixet factory overhead 52400000 52400000 2,400,000
Vorablsfctory overhead .. §1,680000  $1920000 _§2.160.000

4200 o0 400
20000 2000 270000

During the current quartr, the company operated at 90% of capacity and produced 54,000 uaits of
product,actual direct labor toaled 265,000 hours. Units produced are asigned the following stan-
dand costs:

Dirct materials (1620000 1bo. @ S4porb) ... § 6,480,000
Dirct lbor (270,000 . @ §14 per hr) - a7a0000
Factory overhsad (270000 . © $18 por ) 40000
Tota standerd cost

15120000

Actual costs incurred during the current quarter folow:

‘Diret matorials (115,000 bs. © 84.10) - s 0621500
Dirstlabor (265,000 . @ $13.75) - 3043750
Fice factory ovarhoad costs 2350000
Varabl fctory varhase cost . _22m000
Tota actualcosts s1us15250
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1. Compute the dirct materias cost variance,including is pice and quantiy variances. heck () Mt vrionce:
2. Compute the directlabor variance, including it ate and efficency variaces. Prise, $161500 U; ety
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